
PAGE 1: INSTALLATION - WP2-xxW-xxW-VAR-V4 - WAL12R0xxxW-7xxxC-30EA-V4

www.arani.ca | (888) 992-7264 

! WARNING

PLEASE READ ALL INSTRUCTIONS BEFORE ATTEMPTING INSTALLATION 
— To prevent personal injury or product damage only licensed electricians should install.
— To avoid electric shock or component damage disconnect power before attempting installation or servicing.
— To prevent product malfunction and/or electrical shock this product must be properly grounded.
— This luminaire is designed to operate in ambient temperatures ranging from -40°C to 45°C. 
— Input voltage range: 120-347Vac. If the input voltage exceeds this range, it may cause light failure. Please make sure to operate under the correct input 
voltage.
— Suitable for wet locations.
— Please keep the light fixture away from any corrosive substance. Please clean it with damp or dry cloth.
— Install the fixture ONLY with the orientation shown below, with the LEDs facing down.

Loosen the two screws (A/B) and remove the reflector. Avoid 
touching the reflector surface with bare hands.

Separate part A and B and set part A aside.

Unscrew the 1/2” screw if needed.
Prepare the back housing for mounting by drilling or 
knocking out the appropriate hole. DO NOT PUT HOLES IN 
OTHER PLACES THAN THOSE MARKED AS A AND B.

B

B B

B

Loosen the 2x M5 screws (A/B) and open the fixture.



PAGE 2: INSTALLATION - WP2-xxW-xxW-VAR-V4 - WAL12R0xxxW-7xxxC-30EA-V4

www.arani.ca | (888) 992-7264 

Blue

LS

LS

(120V-347V)

Dial Switch

Blue Pink Purple YellowR ed WhiteB lack BlackG ray

PowerC orrelated Color Temperature

12
V-

D
IM

-

D
IM

+

12
V+ V+ LE
D V- LE
D

LE
D

Power and CCT selection

5.1 Fix the back housing to the junction box.
5.2 Connect the wires as per the wiring diagram.
5.3 Select the desired colour temperature and power.

5.1 Fix the back housing on the wall.
5.2 Connect the wires as per the wiring diagram.
5.3 Select the desired colour temperature and power. 

Put part A back onto the hinge of part B. Check the hinge 
for secure. Evenly tight the 2x M5 screws.

Put back the reflector and tighten the 2 screws.

REMOVE THE WATERPROOF PLUGS.

Connect to main electricity and check if the unit is working properly.



www.arani.ca | (888) 992-7264 

PAGE 3: INSTALLATION - WP2-xxW-xxW-VAR-V4 - WAL12R0xxxW-7xxxC-30EA-V4
LED WALL PACK

LED WALL PACK

Photocell desinstallation

1. Loosen the two M5 screws. 

3. Detach the connector, with the black and red 
wires, from the photocell by pulling out both 
wires.

4. Put the reflector back on.

2. Remove the glass cover & the reflector.

5. Reinstall the glass cover frame. REMOVE 
THE WATERPROOF PLUGS.

6. Tighten evenly back the two M5 screws and 
check whether the fixture works properly.


